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Question No. 1 is compulsory.
Attempt four thore questions by selecting two -

questions from each Section.

© Attempt any five parts : .

@ i ST

x+2 -5 x<l

S ={4x-1 5 1sx<3

2+5 x23

‘Examine whether M /(¥) and lim f() exist,

P.TO.
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3 () - Evaluate - Section 1
S = i o2 ‘(@ A function f(x) is defined as follows :
- | iy / 2 .
: : ,'_'Il,[m— X +|]. i -
e . ©  Show that o . X _ 4 i x<a
' . ; - a .
: .o ‘ I T - i' f(.\') =9 0 ; r=a
0 ) ST B(m,n) =.I '\\H.,_l oy ;1' : . . R C. R
, . . . o (l'-l'-x)"”" = . 1 L . A a .
4 : . a-— } x>a
) _ L ) ) - L X .
(d) " Evaluate the .double integral I)
'| . | o . ‘ - ' a#0. Show that fix) is continuous at x = a.
h\—‘—. . . . ! - '._ . - N . . ‘
0 0 - (I-xl).,[u_ y) - N 1T (b) _Find 'th.e value of the mh derivative of the .functlon‘
©  Sove .. o . Lyt for'x = 0,
S dy 3.0 (@ I @="e", find the value of n which will make :
_ - X~ 2 . - .
- -d¥+y=y |,0gx, L ‘ . .
_ Solve the differenﬁm equiition , - : - . el )
- - (D? +"l.~)+|).v' = sin' 2%’ R o ‘(h) Find thé position and nature, of ‘the double points on
: ® Form a P SR - the curvé S . .
R partlal Ht . . . - Y . \
artial differentia equation by elimination of R : v | | .
- eonstants .k ang 4 froﬁ . ' s . : S N P+ ad
o (Jc‘+h)2 ;i-(y.— ky? ‘+.’zz =‘2 4. (a) Show that -: |
" ’ oo . .
" o _'SDIYe.- : x/]' c oéz’"f':esinz"" 046 =,1“(7m) L(n)
e $ T(n+n) °
y P‘xyq =x(.z;2y). . ”
) .
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() Evaluate -
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- Solve any two of the followmv

: ( (i) x;.(.g

! Jz_—f xdxdy

. ,fi’ +y2°

Section 11 .

0

(@) - Solve the -differential _equation :

dz -z = £ '
=43 _1 z)?
'!_xog xz(og).

() . Solve :
xydx (x +y)dy 0.

differential equations :

(@) (D3+l) y= cosZt

» J

'(b)-,' dv‘:’+4y =xsinx

. ~3 } , ) N . ‘ :
- sdy o dy ' ( l)

) XY=y —5+2y=10{ x+—

(, C o | d ¥ x).

Solve the followmg partial dlfferentual equatlons :

+Jw)p r(z +xy)q x!
Gy (P +g? )y=gz.

63 632 '
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